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CLASS 10
1. If in two triangles, corresponding angles are equal, then the two triangles are……………
Ans. Equiangular then similar  

2. ∆ABC is a right angled at B. BD is perpendicular upon AC. If AD=a, CD=b, then AB²=
Ans. a(a+b)             

3. The area of two similar triangles are 32cm² and 48cm².If the square of a side of the first ∆ is 24cm²,then    
   the square of the corresponding side of 2nd will be 
Ans. 36cm²  

4. ABC is a triangle with DE|| BC. If AD=2cm, BD=4cm then find the value DE:BC
Ans. 1:3

5. In ∆ABC,DE ||BC, if AD=4x-3,DB=3x-1,AE=8x-7and BC=5x-3,then find the values of x are:
Ans. 1, 

6. The perimeters of two similar triangles are 40cm and 50 cm respectively, find the ratio of the area of the first triangle to the area of the 2nd triangle:
Ans. 16:25

7. A man goes 150m due east and then 200m due north. How far is he from the starting point?
Ans. 250 m

8. A ladder reaches a window which is 12m above the ground on one side of the street. Keeping its foot at      
the same point, the ladder is turned to the other side of the street to reach a window 9m high. If the length   
of the ladder is 15m, find the width of the street.
Ans. 21m

9. BO and CO are respectively the bisector of B and C of ∆ABC.AO produced meets BC at P,then find 
AB/AC  
Ans.

10.In▲ABC,the bisectors of B intersects the side AC at D.A line parallel to side AC intersects line 
segments AB,DB and CB at points P,R,Q respectively.Then, Find AB XCQ
Ans. BC X AP 

11.If ∆ABC is an equilateral triangle such that ADBC,then AD²=………..
Ans. 3CD² 

12.If ∆ABC and ∆DEF are similar triangles such that A=470,andE=830 ,then find C
Ans. 500

13.Two isosceles triangles have equal angles and their areas are in the ratio 16:25,then find the ratio of their corresponding heights 
Ans. 4:5 

14.Two poles of heights 6m and 11m stand vertically upright on a plane ground.If the distance between 
their feet is 12m,then find the distance between their tops.
Ans.13m 

15.The lengths of the diagonals of a rhombus are 16cm and 12cm.Then, find the length of the side of the 
rhombus .

16. In given figure,AB||DCand = then find the value of x, if .
,
Ans. 7
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17.PQR is a right angled triangle with P=900. If PM QR, then show that 

18. In given fig. = and 1=2.Show that ∆PQS~∆TQR.
[image: 2]





19. Find the length of altitude of an equilateral triangle of side 2cm.
Ans.  cm

20. In a trapezium ABCD,O is the point of intersection of AC and BD,AB||CD and AB=2CD.If the area of 
∆AOB=84cm² then find area of  ∆COD.				Ans. 21 cm2

21.In given fig. ==3.If area of ∆PQR is 32cm², then find the area of the quad.STQR		Ans.14 cm2
 (
P
Q
R
T
S
)	







22. M is the mid-point of the side CD of a ||gm ABCD. The line BM is drawn intersecting AC at L and AD produced at E. Prove that EL=2BL.


23.Prove that the ratio of the area of two similar ∆s is equal to the square of the ratio of their corresponding 
medians.

24. D and E are points on the sides CA and CB respectively of ∆ABC, right angled at C.Prove that 
AE²+BD²=AB²+DE².

25.ABC and DBC are two ∆s on the same base BC and on the same side of BC with A=D=900.If CA and BD meet each other at E, show that AE x EC=BE x ED.
26.In each of following , find the value of ‘k’ for which the points are collinear . 
(a) (7, -2) , (5, 1) , (3, k)               (b) (8, 1) , (k, -4) ,(2,-5) 
           Ans.  
27.Find the area of the triangle formed by joining the mid points of the sides of the triangle whose vertices are (0, -1) , (2,1) and (0,3). Find the ratio of this area to the area of the given triangle.
Ans. 1:4
28.Find the coordinates of the points which divides the line segment joining the points    (-2,0) and (0,8) in four equal parts.
Ans.  (
29.Find the area of the quadrilateral whose vertices taken in order are (-4, -2), (-3, -5), (3, -2) and (2,3)
Ans. 28 sq. units
30.Find the area of the rhombus, if its vertices are (3,0), (4,5), (-1,4) and (-2,-1) taken in order.
Ans. 24 sq. units

                                                                              

CLASS 11

1. If A and B are any two sets, then A-B =A- (A∩ 𝐵), is it true or false? 
2. All functions are relation, is it true or false? 
3. In the 1st quadrant sin𝜃 < cos . is it true or false?
 4. If  (𝑥) = |𝑥| write the range of 𝑓. 
 5. If sin𝑥 = sin𝜃 ,then 𝑥 =? 
6. Write 𝐴 × 𝐴 × 𝐴, if A={0,1}. 
7. Evaluate cos(1470°). 
8. If A={a, b}, B={2,3,5,6,7} and C={5,6,7,8,9}, then find A∪(B∩ C). 
9. Write the set A ={x: x ε Z, x2 <20} in the roster form. 
10. Convert 40° 20′ into radian measure.
 11. Write A={x: x𝜖𝑅,-3< 𝑥 ≤ 7} as interval.
                                                    Answer key 
12. True,          2.true ,               3.false,                 4.set of all non negative integers,           
      5.n𝜋 ± (−1)𝑛𝜃 , n𝜖𝑍             6. {(0,0,0),(0,0,1),(0,1,0),(1,0,0),(1,1,0),(1,0,1),(0,1,1),(1,1,1)} ,        
     7.   √3 2 ,            8. {a,b,5,6,7} ,            9. {0,-1,1,-2,2,-3,3,-4,4}            10. 121𝜋 540              11. (-3,7]
13. Find  the value of  5P2. a) 5   b) 10   c) 15   d)20 
14. There are four bus routes between A and B ; and three bus routes between B and C. A man can travel round trip in number of ways by bus from A to C via B. If he does not want to use a bus route more than once, in how many ways can he make round trip? a) 72   b) 144  c) 14  d) 19
 15. If  8C x = 8C1 then x will be: a) 6   b) 5   c) 7  d) 4
 1. If nC3 = nC5 then find n: a) 4   b) 6   c) 8   d) 10 
16. In how many ways a committee consisting of 3 men and 2 women, can be chosen from 7 men and 5 women? a) 45   b) 350  c) 4200 d) 230 
17. The number of signals that can be sent by 6 flags of different colours taking one or more at a time is- a) 63   b) 1956  c) 720  d) 21
 18. Sum of nC1 + nC2 + nC3 + nC4 +………….+ nCn  =……………..  a) 2n-1  b) 2n   c) 2n+1  d) None of these 
19. In an examination, there are three multiple choice questions and each question has 4 choices. Number of ways in which a student can fail to get all answer correct is – a) 11   b) 12    c) 27   d) 63 20.. Let Tn denote the no. of triangles which can be formed using the vertices of a regular polygon on n sides? If Tn+1 – Tn  = 21 then n should be a) 5   b) 7   c) 6   d)  4 
20.  Four dice are rolled. Then the number of possible outcomes in which at-least two dice show 6 is-    a) 216  b) 900  c) 150  d) 171  

 10 MISCELLANEOUS QUESTIONS OF CHEPTER PERMUTAION AND COMBINATIONS.
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1.      Prove that the radius of the right circular cylinder of greatest curved surface area which can be inscribed in a given cone is half of that of the cone.		                       6M
2.      An open box with a square base is to be made out of a given quantity of cardboard of area  c2 square units. Show that the maximum volume of the box is  .                            6M            							
3.      Find the volume of the largest right circular cylinder that can be inscribed in a sphere of radius  r  cm.								                          6M
4.     Show that the semi vertical angle of a right circular cone of maximum volume and given slant height is    .							           6M
5.      Show that a closed right circular cylinder of given surface area and  S  and maximum volume  V is such that its height is equal to the diameter of the base.	                  6M
6.      Show that the right circular cone of least curved surface and given volume has an altitude equal to   times the radius of the base.					                6M
7.      A window has the shape of a rectangle surmounted by an equilateral triangle. If the perimeter of the window is  12 m,  find the dimensions of the rectangle that will produce the largest area of the window.							6M
8.      A wire of  length  28 m  is to be cut into two pieces. One of the two pieces is to be made into a square and the other into a circle.  What should be the lengths of two pieces so that the combined area of circle and square is minimum ?			6M
9.  Two poles of  heights   16 m   and   22 m   stand vertically on the ground   20 m  apart.  Find a point on the ground,  in between the poles,  such that the sum of the squares of the distances of this point from the tops of the poles is minimum                                     6M
10.      Show that the volume of the greatest cylinder that can be inscribed in a cone of height  ‘h’  and semi vertical angle   ‘α’   is    π h3 tan2α.				6M
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